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I.Fill in the Blanks 15X 1=15
1.JVM stands for -----------.
2. Java supports ---------- different types of comment styles.
3. Separators are used in java to delineate. ------- of -------.
4. The ------ datatype is used to store single character.
5. --------- operator initializes all of the array elements to a
default value.
6. % = operator is known as --------
7. In java the two boolean literal values are ------- and -------.
8. Java does not support ----------------------.
9.The lowest level input method is -----------.
10.----------- is a completely generic component.
11. ----------- is an array of object reference .
12. -------- is an array of object reference.
13. Java exception handling is managed via --------- keywords.
14. The package can be defined as ---------.
15. ------------ are downloaded from their home servers as bytecode.


II.Choose the best answer. 15 X 1=15
1.________ is a imaginary computer.
a)Java compiler b)Java virtual Machine
c) JDK d)AWT
2. Find the odd one.
a) string b)class c)method d)interface
3. ________ is a Java compiler.
a)Javap b)Javac c)Java d)Javadoc
4.Which stores homogenous data
a) Hash table b) Vector c)Array d)None
5. init( ) method is associated with ------
a) AWT b) exception c) Applet d) None
6. Java provides built in support for ------- programming.
a)Multithread b) Class c) Interface d)None
7. ----------- is acquiring properties of another entity or class
a) Join( ) b) Yield ( ) c) Start ( ) d) None
8) Fills an oval using the current color.
a) Fill Oval( ) b) Get Color( ) c) Get Font( ) d) None
9) Java uses ________ ontainers
a)Frame and Panel b)Frame and Window
c)Panel and Window d)Panel and Canvas
10) -------- notation is used to obtain the value of the instance
a) & b)dot c) increment d) ~
11) ---------- are simply components that can contain other
components.
a) Layouts b) Windows c) Containers d) None
12) Rturn the label of the check box ( ) -----------
a) check box ( ) b) String getlabel ( )
c) String getlabel(String lbl) d) None
13) The bulk of --------- is sub classed from the component class.
a) Applet b) interface c) method d)AWT
14) ----------- is a component that lets the user enter a single line of text.
a) Text Area b) Text Field c) List d) None
15) The ------------ statements can be nested.
a) Catch b) Try c) Throw d) None



III. Match the following 10 X 1 =10
1. String - Conditional statement
2. Do While - Stack
3.AWT - Looping statement
4.overload methods - Tab Polymorphism
5.% - Case
6. if - Compile
7. javac - Class path
8. Switch - Polymorphism
9. \t - Applet
10. Interface - Data type



IV . Answer any SIX 6 X 5= 30

1) Explain control statements with example.
2) Write a Java program to find the given number is
Amstrong number of not.
3) Explain Multithread.
4) Define Labelbox with example?
5) Explain string function with example?
6) Explain exception handling?
7) Explain different Data types?
8) Explain methods of Applet?

V. Answer any THREE 3 X 10= 30
1. Explain the operators in Java.
2. Write about the looping statements in java?
3. Explain All the mouse events with example?
4. Explain Array with example?
5. Explain multilevel Inheritance with example?

